TN

TGFB1

0% | 0% | 6%

Vi
SMAD?2

0% | 0% [11%

SMAD4

6% | 0% [ 11%

CDKN1B

0% | 6% | 6%

3 GSK3B
S 0% | 0% | 6%
5
T
1 Q
8

MYC

6% | 6% | 0%
VR

Z i

>

T [ coknze |
@,

«Q

>

o

i CDKN2D
— 0% | 0% | 6%

CCND1
0% [11% | 0%
—]
CDK4

|

[ cenez |

0%

6%

0%

CDK2

0% | 6% | 0%

ATM EP300 ATR
6% | 6% | 11% 6% 0% 17% | 0% | 17%
[ DNAdamage]
CHEK2 TP53 CHEK1
0% |11% | 6% 0% | 17% | 11% 0% | 6% |[17%
Cell cycle
SKP1/2 GADD45B SFN
6% | 6% | 0% 0% | 0% | 6% 0% | 6% | 0%
CDKN1A CDC25A CDC258B |
0% | 0% [17% 0% | 6% | 0% |'
RB1
6% | 6% | 6%
CCNA1 CCNB3
| 0% | 6% | 0% 6% | 0% | 6%
—
[ E2F1 ] CDK1 CDK1

0%

0% -

0%

o




